Let U be a subspace of V that contains V.,..., Um. Since subspaces are closed under addition and scalar multiplication, V.,..., Um EU implies a.v. +...+ an Vm EU for all a.,..., an EIF. By definition, Span(V.,..., Vm)=fa.v.+...fanVm: a.,..., an EIF? ... span(V.,..., Vm)=fa.v.+...fanVm: a.,..., an EIF?

2.21 Linear Dependence Lemma.
Suppose V,..., Vm is a linearly dependent list in V. Then
there exists
$$j \in \{1, ..., m\}$$
 such that:
a). $v_j \in Span(v_1, ..., v_{j-1})$
 $(v_j \in 0, v_1 + \cdots + a_{j-1}v_{j-1} \text{ for some } a_1, ..., a_{j-1} \in \mathbb{F})$
b). If the jth term is removed from $v_1, ..., v_m$,
 $(resulting in V_1, ..., V_{j+1}, V_{j+1}, ..., Vm)$
then span($V_1, ..., V_{j+1}, V_{j+1}, ..., Vm$) = span $(v_1, ..., Vm)$
Proof of a):
since $v_1, ..., Vm$ is linearly dependent, there exist
 $a_1, ..., a_m \in \mathbb{F}$, not all O_1
such that
 $a_1v_1 + ... + a_mv_m = 0$.
So we have,
 $a_1v_1 + ... + a_{j+1}v_{j+1} + a_{j}v_{j+1} - ... + a_mv_m = 0$.
So live for V_j :
 $V_j = -\frac{a_jv}{a_j}V_{j-1} - \frac{a_{j+1}}{a_j}V_{j-1} - ... + In other words, V_j is a linear combination of $v_1, ..., v_{j-1}$.
Therefore, $v_1 \in Span(v_1, ..., v_{j+1})$, Droving (a).$

Proof of b): Suppose nespon (V.,..., Vm). Then there exist C.,..., Cmeff such that U= C.V. + ... + CmVm. Recall from the proof of part 1a): $V_{j} = -\frac{\alpha_{j}}{\alpha_{j}}V_{i} - \dots - \frac{\alpha_{j-1}}{\alpha_{j}}V_{j-1}$ We have u= c.v.t..+ c.v.n = C1V1+...+ G-1Vj-1+CjVj+...+ CmVm = C.V. + ... + Cj + Vj++Cj (- 0; V. - ... - 0; Vj+)+Cj+ Vj+1 = $(C_1 - G_{jaj}^{a}) V_1 + \dots + (C_{j-1} - C_j - C_{j-aj}^{a_j-1}) V_{j-1} + G_{n_1} V_{jn_1} + \dots + C_{n_k} V_{n_k}$ E Span (4, ..., Vj-1, Vj+1, ..., Um) Therefore, span (V.,..., Vm) < Span (V.,..., Uj-1, Vj+1, ..., Vm) In other words, let us span (V,,..., Vy-, Vj+1,..., Vm) Then there exist a.,..., Om EFF such that U=a.v.+...+ aj+Vj++Dj++Vj+++....+amVm But also, $U = Q_1V_1 + ... + Q_{j-1}V_{j-1} + Q_{j+1}V_{j+1} + ... + Q_mV_m$ ESPON (V,,..., Vm) So span(V.,..., Vj-1, Vj+1,... Vm) ⊂ Span(V,,..., Vn) Therefore, we have the set equality span (V., ..., Vi1, Vit, ..., Vm)= span (V., ..., Vm) proving part (b1.

2.24 Example

ls	the list (1.2.3), (45.8), (2.6,7), (-3.2.8) linearly independent
in	_ R ³ ?
T	he list (1,0,0), (0,1,0), (0,0,1) spans R3.
Т	his list has length 3. No list of length greater than 3 span R?
В	e cause the fourth vector in the list

(1,1,3), (4,5,8), (1,6,7), (-3,1.8)

is a linear combination of the other three.

2.25 Example

Does the list (1,2,3,-5), (4,5,8,3), (2,6,7,-1) span $\mathbb{D}^{4?}$ No, the list (1,0,0,0), (0,1,0,0), (0,0,1,0), (0,0,0,1) spans \mathbb{R}^{4} . No list of length legs than 4 spans \mathbb{R}^{4} .

2.26 Finite dimensional subspaces. Every subspace of a finite-dimensional vector space is finite dimensional (Proof in textbook).

2.27 Definition A basis of V is a list of vectors U,..., Um of V that is linearly independent and spans V.

2.28 Example • The list (1,0,...,0), (0,1,0,...,0), ..., (0,...,0,1) is a basis of Fⁿ. It is called the standard basis of Fⁿ. (1,0), (0,1) is a basis of F². (standard basis)
(1,2), (3.5) is a basis of F².
(2,3), (4.6) is not a basis of F². (14's linearly independent).
(1,1,3), (2,1,3) is not a basis of F³. (Only two vectors in F³ therefore does not span F²)
(1,1), (3,5), (4.13) is not a basis of F².
(1,1), (3,5), (4.13) is not a basis of F².
(1,1,0), (0,0,1) is a basis of f(x, x, y) ∈ F³: x, y ∈ F)
because (x, x, y) = x(1,1,3) + y(0,0,1)
(1,-1,0), (1,0,-1) is a basis of f(x, y, z) ∈ F³. (Xty + Z²)
because (xty + Z=0 implies Z=-x-y.

2.29 Criterion for basis, A list V.,..., VAEV is a basis of V iff eveny VEV can be Written uniquely (in only one way) in the form V = a,v,t..., an eff.

> Proof (forward direction) Suppose V1,...,Vn is a basis of V. For all veV, there exist a1,..., an such that $V = a_1V_1 + ... + a_nV_n$ We need to show that this representation is upique. Suppose C1,..., Cn EFF also satisfy $V = C_1V_1 + ... + C_nV_n$

Substracting 🔗 - 🕱, We get 0= (a.-c.) V. + + (an-cn) Vn Since 0 can be written in only one way. we must have Q.- C. = 0 ..., CIACA = 0 Therefore, a.c., a.c. and so the representation is unique. (Backward direction) Suppose we can write every ve V uniquely in the form V= a.v.t ... + anva Then v is a lineour combination of V.,..., Vn, which means V.,..., Vn spans V. Now we must prove that V.,..., Vn is linearly independent Suppose a,,..., an EF satisfy anvite on V=0 Since the representation of every UGV (U=0, in particular) is unique, we must have a.= 0, ..., an=0. Therefore, V.,..., Va is linearly independent. Since we proved that v.,..., vn is a linearly independent set that spans V, we conclude that v.,..., Un is a basis of V.

2.31 Spanning list contains a basis. Every spaning list in a vector space can be reduced to a basis of the vector space. For example, (1.0) (0,1) (2.3) is a spanning list of FF², But we can reduce this list to (1,0), (0,1).

2.31 Basis of a finite-dimensional vector space. Proof: Accoroling to 2.10 of Axler, there exists a spanning list of every finite-dimensional vector space. By 2.31, the spanning list can be reduced to a basis.

2.33 Linearly independent list extends to a basis. Let U be a finite-dimensional vector space, and let u.,..., yn EV be a linearly independent list. Then this list con be extended to a basis w.s..., Wn of V.

Proof: Suppose u.,..., um GV is linearly independent and w.,..., w.eV.

Then the list u, ..., um, W, ..., When

spans V, Apply the procedure of 2.31 of Axler to remove some vectors from u.,...,um, w.,..., Wm (if near "sary) to reduce this spanning list to a bosis of V. For example, the list (2.3.4), (9.6.8) is linearly independent in FF, Then following the procedure of the proof of 2.33 Axler, we can obtain a list.

(2,3,4), (9,6,8), (0,1,0),

which is a basis of IF³.

2.34 Every subspace of V is part of a direct sum equal

to V.

Suppose V is a finite-dimensional vector space, and V is a subspace of V. Then there exists a subspace W of V such that V=U@W- (can write v=u:w only one may veV, vell, weW)

Proof: Since V is finite-dimensional and V is a subspace of V, by 2.26 of Addor, U is also finite-dimensional. By 2.32 of Axler, there exists a basis u.,..., um of U. This means in particular that u.,..., um is linearly independent in V. By 2.33 Axlor, we can extend u.,..., um to a basis u.,..., um W.,..., Wn of V. Now, let W= span(W.,..., Wn) To prove V= U&W. By 1.45 of Axler, we just need to prove V= U&W and UNW= for First, we will prove V=UtW. Suppose veV, Since u.,..., um, w, ..., wn spans V there exist a.,..., am, b.,..., bn & F such that V= a. u.t...t anVm t b. V.t...t bn Vn

So V=u+W, where uell and wcW. So V=u+W.

W

N

Substracting, we get:

$$au_{1}+\dots+a_{m}u_{m}-b_{1}w_{1}-\dots-b_{n}w_{n}=0$$

Since $u_{1},\dots,u_{m},w_{1},\dots,w_{n}$ are $L.I.$, all the
scalars one zero.
 $a.=0,\dots,a_{m}=0,-b_{1}=0,\dots,-b_{n}=0$
Therefore, $V=a.u_{1}+\dots+a_{m}u_{m}$
 $=0u.+\dots+0u_{m}$
 $=0u.+\dots+0u_{m}$
 $=0w.+\dots+0w_{n}$
 $=0w.+\dots+0w_{n}$
 $=0efog$
Therefore. $UAWEfog$
So $UAW=fog$, as desired.